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When he is slaughtering it through another - NN 570 DY 1awa

Overview

The X713 concluded that even though "X " maintains 22wn1 7217, nevertheless he
agrees that 02w n» X (for we say »"2%p), and even though there is a Xn°12 which
states that 2"9 maintains N2aw31a 12w 233 he pays 'M "7 (which would indicate that he
also maintains 2%wm nn), that Xn>»92is in a case where he was R °"v 2w, therefore
there 1s no 110’1 2111 for the 21). We can now establish our 171wn, which states that if
0°719077 01°2 172wy 21 he pays "M '7 (even though there is a MpYn 21n), according to
n"9, who maintains 27wn) 7?12 (but not 27wn nx, so if it happened on Naw he is Mwo).

nvoN asks:
= N1 22997 (0w 3,75 91 mana) MY TN P93 9INRT N29D) 9NN ON)

And if you will say, but according to 1737, who states in nmaw1 "8 pap that

according to »''" -
= 19959301 %WN NN 291 BHYN HLPNT 2) Y GNT DIPA NN NYTIHY NIN VITN

There is a novelty which the 7910 instituted by a 212 payment that even though

he is Kkilled, nevertheless he has to pay, so how will ;7129 explain our 1w -
= 353 NAWa NIV 1YON 299NN 295 INT

For if our m1wn is according to »''9, the rule should be that even if he slaughtered
on naw, he should also be liable for the 01p of 'm 77!

NIDON answers:
= 1192 Y9N ND72 125259 0P NINT 99D U

And one can say that 721 would establish our ;73w» (not according to »"9,* but

rather) in a case where they did not warn him on 5"y -
= 519215WNA 122990 PINY NPPYN 229N 9INT 1IN’ 2299

And the mwn will follow the view of >''% who maintains that those who
inadvertently transgressed a nmyph» prohibition are liable to pay -

' Our mwn states that if nawa nav (where there is a 7"°2 N> 21°7) he is Mws from '™ 7, however if he was 720 on
9"571° (where there is only a mpon 2vn) he is ‘71 '72 270
2 This will explain why on 5" he is 21, since »"1 maintains 27wn 717
3 Why is he w9 according to n"9, since 727 maintains that according to "1 by 01p we say 2>wm na.
4 Therefore by naw he is 75 on account of n"27p.
5 Generally (by 7""2 nnn 21m) we apply 2"25p (based on the 1 °27 Xin) even where the death penalty is not meted
out (it was 332 or 12 1071 &?). However by mip%n 21 the view of *"1 is that o%wn 712 PR, only if he actually receives
mpon, however if he does not receive Mp2n (either because he was a 3w or he was not warned), we do not apply
n"2%p, and he has to pay.
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LAY IINRT 7PNNNM SoNN N9 NIWN 29N
And this is how 7721 explains there the n1aw» in NP B8 P9,

Summary
1727 can establish the case of 5"2771°2 12V where 12 170X X2 according to 1M .

Thinking it over

Why does moown asks his question here, since in My1 19X the X3 explained it
according to 727 (in a case of 12 170X X77),% obviously the same explanation can apply
here?!

6
2,75.
" The nvawn there too, state that by mpn 21’71 there is 03p (where 12 1I0X X? according to 7727) and by 70" 217 there is
no o1p. See ‘Thinking it over’/
8 See footnote # 7.
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